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R#HERE 0.0 0.0 0.0 0.0 0.0 0.0 | 0.01  0.00 0.01 1.0 o0.00 0.0 0.0 0.0 | 0.04 3.0 0.00 0.0 | 0.00 0.0
AfLET D 0.0 0.0 0.0 0.0 0.0 0.0 [ 0.02 0.01 0.03 3.0 | 0.00 0.0 0.0 0.0 | 0.00 0.0  0.00 0.0 | 0.00 0.0
ANLET @ 0.0 0.0 0.0 0.0 0.0 0.0 | 003 0.00 0.03 3.0| 0.00 0.0 0.0 0.0 | 0.08 40 0.00 0.0 | 0.00 0.0
U1 O] 0.0 0.0 0.0 0.0 0.0 0.0 [ 010 0.00 0.10 8.0 | 0.00 0.0 0.0 0.0 | 0.00 0.0  0.00 0.0 | 0.00 0.0
AV:: 1 )] 0.0 0.0 0.0 0.0 0.0 0.0 | 0.00 | 0.00 0.00 0.0 | 0.00 0.0 0.0 0.0 | 0.00 0.0  0.00 0.0 | 0.00 0.0
mEZH @ 0.0 0.0 0.0 0.0 0.0 0.0 [ 0.01 ; 0.00 0.01 1.0 0.00 0.0 40 100 | 0.00 0.0  0.00 0.0 | 0.00 0.0
RADH @ 0.0 0.0 0.0 0.0 0.0 0.0 | 0.00 | 0.00 0.00 0.0 | 0.00 0.0 0.0 0.0 | 0.00 0.0  0.00 0.0 | 0.00 0.0
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FE BE) B it i it i (i) () | PRd Db L PP | B it i i IR B a B (D) (i) (i)
FE (HIF) 0.0 0.0 0.1 0.2 0.0 0.0 023 012 035 155 | 0.04 0.7 1.4 6.1 0.13 47 0N 1.5 | 0.00 0.0
R2%E 0.0 0.0 0.3 1.7 0.0 0.0 016 004 019 148 | 0.02 1.2 0.2 0.8 | 0.05 27 015 147 0.00 0.0
H3 1% 0.0 0.0 0.0 0.0 0.0 0.0 [ 0.03 0.00 0.03 2.8 0.03 0.2 0.0 0.0 | 0.02 2.2 0.03 3.3 | 0.00 0.2
H30%& 0.0 0.0 0.0 0.0 0.0 0.0 008 002 0.10 8.8 | 0.00 0.0 1.2 6.0 | 0.08 4.6 0.09 43| 0.00 0.0
C | H2 9% 0.0 0.0 0.0 0.0 0.0 0.0 025 071 09 30.8]| 013 0.7 0.2 1.5 0.06 50 023 41| 0.00 0.0
H28%& 0.0 0.0 0.2 0.8 0.0 0.0 [ 001 002 0.03 1.7 0.00 0.3 1.3 58| o0.71 1.7 0.08 g5 | 0.00 0.0
H2 7% 0.0 0.0 0.0 0.0 0.0 0.0 016 001 017 120 0.00 0.0 0.0 0.0 o0.01 0.5 - 355| 0.00 _
H2 6% 0.0 0.0 0.0 0.0 0.0 0.0 033 010 043 21.7| 0.17 4.0 57 20| 027 143 - 30| o001 _
H25% 0.0 0.0 0.0 0.0 - —| 1.04 024 1.28  40.4 | 0.01 0.8 0.0 0.0 | 0.02 1.6 - _ - _
H2 4% 0.0 0.0 0.0 0.0 - —| 009 006 015 10.7 | 0.00 0.0 1.3 6.7 | 0.04 3.7 - _ - _
H2 3% 0.0 0.0 0.0 0.0 — —| 012 001 013 11.5| 0.00 0.0 45 20| 0.0 0.8 - _ - _
R3%E 0.0 0.0 0.0 1.4 0.0 14.3 28.6 0.0
FE HIF) H it i (i) POD i i PL (i)
FE (HIF) 0.0 1.7 0.0 85.7 20.3 33.2 60.0 2.8
R2%E 0.0 0.0 0.0 57.1 50.0 16.7 66.7 0.0
H3 1% 0.0 0.0 0.0 83.3 16.7 0.0 66.7 16.7
n = H30%& 0.0 0.0 0.0 100.0 0.0 40.0 60.0 0.0
1Fi5E H2 9% 0.0 0.0 0.0 83.3 16.7 66.7 100.0 0.0
(%) H2B8% 0.0 16.7 0.0 66.7 33.3 33.3 100.0 0.0
H2 7% 0.0 0.0 0.0 100.0 0.0 0.0 25.0 0.0
H2 6% 0.0 0.0 0.0 83.3 66.7 66.7 66.7 -
H25% 0.0 0.0 - 100.0 20.0 0.0 40.0 -
H2 4% 0.0 0.0 - 83.3 0.0 33.3 50.0 -
H2 3% 0.0 0.0 — 100.0 0.0 75.0 25.0 —




